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1.  ���%���� � $���&� ������/

1.1   �47=4G5=<5

1.1.1 �4?4D=<> 4?O 65=<>>6 «��$��,», 6 44?L=5=L5< 3 �745?<5, ?D54=47=4G5= 4?O >4G5EF65=-

=>7> 74?4D<64=<O < ?>E?54GNM57> ED4=5=<O 6 74?4D5==>< E>EF>O=<< EF4=44DF=OE 54==OE 

?<EF65==OE < E6>==OE 65=<>>6 6 4F<>ED5D5 =4EOM5==>7> ?4D4. «�4D5=L» E GE?5E>< <>65F <E-

?>?L7>64FLEO < >4> 4D><4F<7<DGNM55 GEFD>=EF6> ?D< D47<5M5=<< 6 =5< D<F>74?4D=>7> <4F5-

D<4?4, < >4> G6?46=<F5?L 6>74GE4 ?D< EGE>< <<>D>>?<<4F5 6 ?4D<?L=>< ?><5M5=<<.

1.2   &5E=<G5E><5 E4D4>F5D<EF<><

�4<<5=>64=<5 �4. <7. �>D<O, ?4D4<5FDO

�><<=4?L=4O ?>FD55?O5<4O <>M=>EFL >�F 0-1,5

$5>><5=4G5<>5 >>?<G5EF6> >4=>6D5<5==> 74?4D<645<OE 65=<>>6 LF. 1-4

$5>><5=4G5<O= =><<=4?L=O= F>> 74M<F=>7> 46F><4F4 � 10

%5G5=<5 E<?>6OE < 7475<?ONM<E ?D>6>4>6 <<2 1,5

�D><76>4<F5?L=>EFL (?> D4EE>4G 6>4O) ?/G4E 033

�5N5< 5<>>EF< 4?O 6>4O ? 6

�454D<F=O5 D47<5DO (,<D<=4, �?G5<=4, �OE>F4) << 355E332E740

�4EE4 >7 16

�4?DO65=<5 ?<F4=<O � 220

$>4 F>>4 ?5D5<5==O=

$56<< D45>FO ?D>4>?6<F5?L=O=

�?4EE 74M<FO >F ?>D465=<O M?5>FD<G5E><< F>>>< 01

%F5?5=< 74M<FO IP%4

%?>E>5 GEF4=>6>< =4EF5==O= < =4?>?L=O=
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1.3   %>EF46

7 ?? �4<<5=>64=<5 �4<=<F4 <7<5D5=<O �>?<G5EF6>

1 �4?4D=<> 4?O 65=<>>6 «��$��,» LF. 1

2 $G>>6>4EF6> ?> M>E??G4F4F<< LF. 1

3 '?4>>6>G=4O F4D4 LF. 1

1.4   'EFD>=EF6> < D45>F4 <745?<O

1.4.1 �=5L=<= 6<4 < >>=EFDG>F<O <745?<O ?D54EF46?5=O =4 D<E. 1 < 2.

1.4.2 �745?<5 E>EF><F <7 46GE DG=>F<>=4?L=OE 5?>>>6: 

• �4> 4?O ><?OG5=<O 6>4O (?>7. 1, D<E. 2).

• �>=F5==5D 4?O 65=<>>6 (?>7. 2, D<E. 2).

1.4.3. 'EFD>=EF6> �745?<O.

� =<6=5= G4EF< �745?<O D4E?>?>65= 54> <7 =5D6465NM5= EF4?< (?>7. 1, D<E. 2) E GEF4=>6?5==O< 

6 =5< &-�>< (?>7. 4, D<E. 2). �44 54>>< =4E>4<FEO >>=F5==5D 4?O 65=<>>6 (?>7. 2, D<E. 2), <77>F>6-

?5==O= <7 =5D6465NM5= EF4?< < >5L<FO= 45D56O==O<< D5=>4<< (?>7. 6, D<E. 2). �4> 4?O 6>4O 

< >>=F5==5D 4?O 65=<>>6 D4745?5=O ?5DD>D<D>64==>= D5LUF>>=. �>=F5==5D 4?O 65=<>>6 74-

>DO645FEO >DOL>>= (?>7. 7, D<E. 2).

1.4.4. �4 ?<F56>= EF>D>=5 �745?<O D4E?>?>65=4 ?4=5?L G?D46?5=<O E <=4<>4F>D>< < >=>?>4<< 

(?>7. 3, D<E. 2). �=4<>4F>D ?>>47O645F 6 ?D>F5=F=>< >F>5D465=<< >F 220 � 65?<G<=G =4?DO-

65=<O ?>44645<>7> =4 &-� GEF4=>6?5==O= 6 6>4O=>< 54>5 ?4D>75=5D4F>D4 < E?G64M<= 4?O 

=47D564 6>4O. �=>?>< ?>4 <=4<>4F>D>< ?>76>?ONF D57G?<D>64FL GD>65=L <>M=>EF< 6>4O=>7> 
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&-�4 >F 0% 4> 100%. �?>> G?D46?5=<O =47D56>< 6>4O (?>7. 5, D<E. 2) < >?5<<O 4?O M?5>FD<G5-

E>>7> ?>4>?NG5=<O D4E?>?>65=O 74 ?5D54=5=, 45>>D4F<6=>= ?4=5?LN >E=>64=<O.

1.4.5. -?5>FD<G5E>4O EE5<4 ?>4>?NG5=<O 74?4D=<>4 =4 D<E. 3. 

1.5.   �>=FD>?L=>-<7<5D<F5?L=O5 ?D<5>DO

1.5.1. �>=FD>?L < G?D46?5=<5 ?4D>>5D47>64=<5< >EGM5EF6?O5FEO E ?><>MLN <=4<>4F>D=>= ?4=5?<.

1.6.   �4D><D>6>4 < ??><5<D>64=<5

1.6.1. �4D><D>6>4 =4=5E5=4 =4 L<?L4, D4E?>?>65==O= =4 >>D?GE5 �745?<O.

1.6.2. �4D><D>6>4 E>>F65FEF6G5F FD55>64=<O< EF.5 &$ &% 004/2011 < E>45D6<F E?54GNM<5 44==O5:

• GE?>6=>5 >5>7=4G5=<5 (F<?) <745?<O,

• F>64D=O= 7=4> <?< =4<<5=>64=<5 ?D54?D<OF<O-<77>F>6<F5?O,

• 746>4E>>= =><5D,

• <>M=>EFL GEFD>=EF64 6 ><?>64FF4E, 

• =><<=4?L=>5 =4?DO65=<5 ?<F4NM5= E5F< 6 6>?LF4E,

• <4EEG GEFD>=EF64 6 ><?>7D4<<4E,

• 7>4 <77>F>6?5=<O,

• EFD4=4 <77>F>6?5=<O,

• >5>7=4G5=<5 F5E=<G5E><E GE?>6<=,

• ??><5<D>64=<5 <745?<O =5 ?D54GE<>FD5=>

1.7.   '?4>>6>4 

• '?4>>6>4 <745?<O ?D><76>4<FEO 6 >>D>5>< <7 7>DD>>4DF>=4.

• '?4>>6>4 < >>=E5D64F<O <745?<O E>>F65FEF6GNF FD55>64=<O< D474.3 ��%& 23216 4?O GE?>-

6<= FD4=E?>DF<D>64=<O, ED4=5=<O < ED>>>6 E>ED4==>EF<.
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$<E. 3. -?5>FD<G5E>4O EE5<4 ?>4>?NG5=<O 74?4D=<>4
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2.  �%���,������� ������/

2.1   �>47>F>6>4 > <E?>?L7>64=<N 

2.1.1   �5DO 557>?4E=>EF<

• % F5?LN =5G>>E=<F5?L=>7> E>5?N45=<O ?D46<? ?>64D=>= < M?5>FD>557>?4E=>EF<, ?>4>?N-

G5=<5 �745?<O 4>?6=> ?D><76>4<FEO M?5>FD>F5E=<G5E><< ?5DE>=4?><, <<5NM<< 4>?GE> > 

D45>F5 E M?5>FD>GEF4=>6>4<< 4> 1000� < >64?<D<>4F<>==GN 7DG??G ?> M?5>FD>557>?4E=>-

EF< =5 =<65 III. 

• -?5>FD<G5E>4O ?D>6>4>4 4>?6=4 5OFL 6O?>?=5=4 6 E>>F65FEF6<< E =>D<4<< �'- < �&�.

• �D<5<>4 �745?<O 6 M>E??G4F4F<N 4>?6=4 ?D><76>4<FLEO E >D>D<?5=<5< E>>F65FEF6GNM5-

7> 4>F4.

• �4?D5M45FEO GEF4=46?<64FL �745?<5 6 ?><5M5=<OE, =5 >F65G4NM<< FD55>64=<O< ?>64D-

=>= 557>?4E=>EF<, >7>6>D5==O< 6: �>EF4=>6?5=<< �D46<F5?LEF64 $$ >F 25 4?D5?O 2012 7. 

7390, %� 60.13330.2016, %� 7.13130.2013.

• %5G5=<O 6<? >455?O, >>F>DO< 6O?>?=O5FEO ?>4>?NG5=<5 �745?<O > M?5>FD<G5E>>= E5F<, 

4>?6=> 5OFL =5 <5=55 G>474==>7> 6 D474.1.2 �4EF>OM57> $G>>6>4EF64. �>=FO 6<? >455?O, 

?>4>?NG45<O5 > 74?4D=<>G, 4>?6=O 5OFL >E=4M5=O E?5F<4?L=O<< =4>>=5G=<>4<<.

• �4?D5M45FEO M>E??G4F4F<O �745?<O 557 74M<F=>7> 46F><4F<G5E>>7> 6O>?NG4F5?O. �?O ?>4-

>?NG5=<O <745?<O E?54G5F ?D54GE<>FD5FL 46F><4F<G5E><= 6O>?NG4F5?L E =><<=4?L=O< 

D45>G<< F>>><, E>>F65FEF6GNM<< ?>FD55?O5<>= <745?<5< <>M=>EF<. �6F><4F<G5E><= 

6O>?NG4F5?L 4>?65= 5OFL 4<DD5D5=F<4?L=O< E =><<=4?L=O< 7=4G5=<5< >F>?NG4NM5-

7> 4<DD5D5=F<4?L=>7> F>>4 30 <�, ?<5> ?>E?5 74M<F=>7> 46F><4F<G5E>>7> 6O>?NG4F5?O 

6 ?<=<< 4>?6=> 5OFL GEF4=>6?5=> GEFD>=EF6> 74M<F=>7> >F>?NG5=<O ('��) E G>474==O< 
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=><<=4?L=O< 7=4G5=<5< >F>?NG4NM57> 4<DD5D5=F<4?L=>7> F>>4. �>4>?NG5=<5 > 46F><4-

F<G5E>><G 6O>?NG4F5?N <=OE ?>FD55<F5?5= 74?D5M45FEO.

• �745?<5 4>?6=> 5OFL =4456=> 7475<?5=>.

• �5D54 6>?NG5=<5< �745?<O =5>5E>4<<> G554<FLEO 6 >FEGFEF6<< ?>EF>D>==<E ?D54<5F>6 

=4 >DOL>5.

• ->E??G4F4F<O �745?<O ?D><76>4<FEO F>?L>> 6 65DF<>4?L=>< ?>?>65=<<. 

2.1.2. �>4>?NG5=<5 > M?5>FD<G5E>>= E5F<. �>47>F>6>4 > D45>F5.

• �E>DOFL F4DG, ?D>65D<FL >><??5>F=>EFL, G44?<FL 74M<F=O5 < G?4>>6>G=O5 <4F5D<4?O.

• %=OFL ?5D54=NN ?4=5?L >E=>64=<O, ?D>?GEF<FL M?5>FD<G5E><= >455?L 4?O ?>4>?NG5=<O 

G5D57 >455?L=O= 66>4 E 744=5= EF>D>=O �745?<O < G5D57 F5E=<G5E><= 747>D 6 >>D?GE5 <56-

4G 54>>< < =4DG6=>= EF5=>>=. �O?>?=<FL ?>4>?NG5=<O �745?<O > M?5>FD<G5E>>= E5F< 6 

E>>F65FEF6<< E =4EF>OM<< $G>>6>4EF6>< ?> M>E??G4F4F<< < M?5>FD<G5E>>= EE5<>= ($<E.3). 

'EF4=>6<FL =4 <5EF> 45>>D4F<6=GN ?5D54=NN ?4=5?L >E=>64=<O.

• 'EF4=>6<FL 74?4D=<> =4 ?>?G <?< 74>D5?<FL =4 EF5=5 6 ?><5M5=<< 54=< <?< E4G=O. 

2.2.   ->E??G4F4F<O <745?<O

2.2.1. �5DO 557>?4E=>EF<

• �745?<5 >F=>E<FEO > M?5>FD<G5E><< GEF4=>6>4<, ?>MF><G 6 ?D>F5EE5 M>E??G4F4F<< =5>5E>-

4<<> E>5?N44FL 6E5 =>D<O < ?D46<?4 45=EF6GNM<E 4>>G<5=F>6 ?> F5E=<>5 557>?4E=>EF< < 

?>64D=>= 557>?4E=>EF< M?5>FD>GEF4=>6>>.
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• �5 4>?GE>45FEO, <?< 4>?GE>45FEO F>?L>> ?>4 ?D<E<>FD><, <E?>?L7>64=<5 �745?<O 45FL<< < 

?N4L<< E >7D4=<G5==O<< D<7<G5E><<<, 46<74F5?L=O<< < ?E<E<G5E><<< 6>7<>6=>EFO<<, 4 

F4>65 ?N4L<<, =5 <<5NM<<< 4>EF4F>G=> >?OF4 <?< 7=4=<= 4?O 57> <E?>?L7>64=<O.

• �5 =4>DO64=F5 <745?<5 =<>4><<< ?D54<5F4<<.

• �5 <E?>?L7G=F5 <745?<5 6 E?GG45 57> ?>6D5645=<O (?>O6?5=<5 ?>EF>D>==57> 74?4E4, 4O<4, 

6>77>D4=<O < F.4.). 

• �5 <E?>?L7G=F5 D4EF6>D<F5?< 6 >4G5EF65 G<EFOM57> ED54EF64 4?O GE>44 74 <745?<5<. 

• � E?GG4OE =5<E?D46=>EF< =5<54?5==> >F>?NG<F5 �745?<5 E ?><>MLN 66>4=>7> 74M<F=>7> 

46F><4F<G5E>>7> 6O>?NG4F5?O. �D<<<F5 <5DO > 57> >64?<D<F<D>64==><G D5<>=FG.

• �4?D5M45FEO >EF46?OFL 6>4G 6 54>5 =5D45>F4NM57> <745?<O ?D< >FD<F4F5?L=OE F5<?5D4-

FGD4E.

2.2.2.   �>DO4>> D45>FO

• %=OFL >DOL>G. '554<FLEO 6 G<EF>F5 74?4D=<>4. �4>DOFL E?<6=GN ?D>5>G =4 L?4=75 4?O E?<-

64 6>4O. �4?<FL 6 54> 6>4G 6 ?<FD>6, => =5 5>?55 7 ?<FD>6. �7?<L5> 6>4O 6O?L5FEO E744< 

74?4D=<>4 =4 ?>?.

• '?>6<FL =4 D5L5F>G 65=<>< (1-4 LFG><). �4>DOFL >DOL>G. �>?NG<FL 74?4D=<>. �4 4<E??5=-

=>< <>4G?5 E ?><>MLN >=>?>>   GEF4=>6<FL <=F5=E<6=>EFL ?4D>>5D47>64=<O 

100% ($56<< ?>47>F>6><). 

• �D< 74><?4=<< 6>4O 6 74?4D=<>5 (20-25 <<=GF) G<5=LL<FL <=F5=E<6=>EFL ?4D>>5D47>64-

=<O (><?5=<O) 4> 4>EF4F>G=>= 4?O E?>>>==>7> ><?5=<O 6>4O 3 40% ($56<< 74?4D<64=<O). 

�>DD5>F<DG5FEO >?OF=O< ?GFU<.
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• �> 7>F>6=>EF< 65=<>>6 (1,5 -2 G4E4) G<5=LL<FL <=F5=E<6=>EFL ?4D>>5D47>64=<O 4> 35% 

($56<< ?>?L7>64=<O). �>DD5>F<DG5FEO >?OF=O< ?GFU<.

• �D< 6O><?4=<< 6>4O =<65 <<=<<4?L=>7> GD>6=O =5>5E>4<<>7> 4?O D45>FO 4<E??5= 74E=5F 

< &-� 6O>?NG45FEO. �?O ?D>4>?65=<O D45>FO =5>5E>4<<> E=OFL >DOL>G < 4>?<FL 6>4O 4> 

6>?NG5=<O 4<E??5O (>>>?> 2-E ?<FD>6).

• �> >>>=G4=<N ?D>F54GD G44?<FL 65=<>< < >?46L<5 ?<EFLO E D5LUF>< 74?4D=<>4. %?<FL 

6>4G G5D57 E?<6=GN FDG5>G. �O=GFL D5LUF>G. �>47>F>6<FL 74?4D=<> > E?54GNM5<G E54=EG. 

�EF46<FL 74?4D=<> >F>DOFO<.

2.2.3.   �5=EF6<O 6 M>EFD5<4?L=OE GE?>6<OE

• � E?GG45 6>7=<>=>65=<O G7D>7O 6<7=< ?N45= <?< G7D>7O ?>64D4, =5746<E<<> >F ?D<G<= <E 

6>7=<>=>65=<O, E?54G5F:

• =5<54?5==> >F>?NG<FL <745?<5 46F><4F<G5E><< 6O>?NG4F5?5< 6=5L=5= E5F< ��;

• M64>G<D>64FL ?N45= <7 ?><5M5=<O, 745 D4E?>?>65=> <745?<5;

• 6O764FL ?D>F<6>?>64D=GN E?G65G <, 6 =5>5E>4<<OE E?GG4OE, E?G65G E>>D>= <54<F<=E>>= 

?><>M<;

• ?D<=OFL <5DO ?D>F<6 D4E?D>EFD4=5=<O ?>64D4.

2.2.4.   �>7<>6=O5 =5<E?D46=>EF< < <E GEFD4=5=<5

�=5L=<5 ?D<7=4>< =5<E?D46=>EF< �5D>OF=4O ?D<G<=4 �5F>4O GEFD4=5=<5

�4?4D=<> 6>?NG5= , => 4<E??5= =5 747>D45FEO.
�FEGFEF6G5F =4?DO65=<5 6 
M?5>FD<G5E>>= E5F<.

�D>65D<FL <E?D46=>EFL E5F<.

�4?4D=<> 6>?NG5= , => 4<E??5= =5 747>D45FEO.
'D>65=L 6>4O 6 54>5 =<65 
=5>5E>4<<>7>.

�>?<FL 6>4G. 
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3.  &�%��'�%��� ��%�'�������

3.1. �D< F5E=<G5E>>< >5E?G6<64=<< <745?<O E?54G5F 6O?>?=OFL E?54GNM<5 6<4O D45>F:

• �G<EF>4 6=5L=5= ?>65DE=>EF< <745?<O 3 D57G?OD=>, ?> <5D5 747DO7=5=<O;

• '44?5=<5 =4><?< <7 54>4 3 ?5D<>4<G5E>< G5D57 5-10 E54=E>6 %>5?N44=F5 <=EFDG>F<< < 

?D46<?4 F5E=<>< 557>?4E=>EF<, ?D54>EF46?5==O5 ?D><76>4<F5?5< ED54EF64 4?O G44?5=<O 

=4><?< < <77>F>6<F5?5< �745?<O. 

• �D>65D>4 E>EF>O=<O F5?< 7475<?5=<O < =4456=>EFL E<?>6OE >>=F4>F>6 =4 -��� < �' 3 

2 D474 6 7>4;

• �E5 D45>FO ?> >G<EF>5, D5<>=FG <745?<O E?54G5F ?D>6>4<FL F>?L>> ?D< >F>?NG5=<< 57> >F 

E5F<.

• �5E?G6<64=<5 <745?<O ?> ?. 3.1.3 4>?6=> ?D><76>4<FEO M?5>FD>F5E=<G5E><< ?5DE>=4?><, 

<<5NM<< 4>?GE> > D45>F5 E M?5>FD>GEF4=>6>4<< 4> 1000 �.

4.  %$������ � &$��%��$&�$������

• �> GEF4=>6>< =4 <5EF> M>E??G4F4F<< <745?<5 4>?6=> ED4=<FLEO 6 G?4>>64==>< 6<45.

• &D4=E?>DF<D>6>4 <745?<O 6 G?4>>64==>< 6<45 ?D><76>4<FEO ?N5O< 6<4>< FD4=E?>DF4 74-

>DOF>7> F<?4. �D< FD4=E?>DF<D>6>5 < ED4=5=<< E?54G5F >5D4F<FL 6=<<4=<5 =4 7=4>< ?D5-

4>EF>D>6=>EF<, =4=5E5==O5 =4 F4DG.
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5.  '&�����&�/

6.  ��$��&���/� ��/��&��,%&��

• �745?<5 =5?L7O GF<?<7<D>64FL 6<5EF5 E 5OF>6O<< >FE>44<<.

• �745?<5 E?54G5F GF<?<7<D>64FL 6 E>>F65FEF6GNM5< ?G=>F5 ?>6F>D=>= ?5D5D45>F>< >FE>-

4>6 M?5>FD<G5E>>7> < M?5>FD>==>7> >5>DG4>64=<O.

• �?O ?>?GG5=<O 4>?>?=<F5?L=>= <=D>D<4F<< >5D4M4=F5EL 6 <5EF=O5 >D74=O 6?4EF< <?< 6 

5?<64=L<= ?G=>F E5>D4 >FE>4>6.

• �745?<5 > ?>?=>EFLN E>>F65FEF6G5F FD55>64=<O< &5E=<G5E><E $57?4<5=F>6 &4<>65==>-

7> %>N74 &$ &% 004\2011 «� 557>?4E=>EF< =<7>>6>?LF=>7> >5>DG4>64=<O», &$ &% 020\2011 

«-?5>FD><47=<F=4O E>6<5EF<<>EFL F5E=<G5E><E ED54EF6», �<D5>F<65 2014/35/�U «�<7-

>>6>?LF=>5 >5>DG4>64=<5», �<D5>F<65 2014/30/�U «-?5>FD><47=<F=4O E>6<5EF<<>EFL», 

��%& 30345.0-95 «�57>?4E=>EFL 5OF>6OE < 4=4?>7<G=OE M?5>FD<G5E><E ?D<5>D>6» < 

&' 27.51.24-020-51036005-2020.

• �D><76>4<F5?L 74D4=F<DG5F 55E?5D55>==GN D45>FG <745?<O 6 F5G5=<5 12 <5EOF56 E <><5=-

F4 ?D>446< ?D< GE?>6<< E>5?N45=<O �>FD55<F5?5< ?D46<? �4EF>OM57> $G>>6>4EF64.

• �4D4=F<O 45=EF6<F5?L=4, 5E?< 44F4 ?>>G?>< <745?<O ?>4F65D645=4 ?5G4FLN < ?>4?<ELN 

?D>446F4 =4 74D4=F<==>< F4?>=5 �77>F>6<F5?O < =4?<G<< >D<7<=4?L=>7> F>64D=>7> G5>4 

<?< 4>7>6>D4 E G>474==>= 44F>= ?>>G?><.

• �4D4=F<==O5 >5O74F5?LEF64 =5 D4E?D>EFD4=ONFEO =4 <745?<O, <E?>?L7G5<O5 6 >><<5DG5-

E><E F5?OE.
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• �4D4=F<==O= D5<>=F =5 ?D><76>4<FEO 6 E?GG4OE:

÷ <EF5G5=<O 74D4=F<==>7> ED>>4;

÷ ?D< E4<>EF>OF5?L=OE D5<>=F4E <745?<O;

÷ ?D< ?>6D5645=<OE <745?<O, 6>7=<>L<E ?> 6<=5 �>FD55<F5?O;

÷ ?D< =4DGL5=<< ?D46<? ED4=5=<O < FD4=E?>DF<D>6>< <745?<O. 

��������!
�77>F>6<F5?L =5 =5EUF >F65FEF65==>EFL 74 ?>E?54EF6<O, 6>7=<>L<5 6 D57G?L-
F4F5 =4DGL5=<< ?D46<? GEF4=>6><, ?>4>?NG5=<O < M>E??G4F4F<< <745?<O, 
<7?>65==OE 6 44==>< DG>>6>4EF65.
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�4F4 <77>F>6?5=<O:  ....................................................................... ,F4<? �&� ........................................................................................

�5G4FL, 44D5E < F5?5D>= D<D<O3?D>446F4  .................................................................................................................................

..............................................................................................................................................................................................................................................................

..............................................................................................................................................................................................................................................................

�4F4 ?D>446<:    ..............................................................................................................................................................................................................

�4D4=F<==>5 >5E?G6<64=<5 >EGM5EF6?O5FEO ?> 44D5EG:

142180, $>EE<O, �>E>>6E>4O >5?., 7. �>4>?LE>, 

<>D. �?<<>6E>, $45D<G=O= ?D>574, 4.4�

�=>7>>4=4?L=O= F5?5D>=: 

+7 495 411-99-08

e-mail: sales@vvd.su

http://www.vvd.su

�4EF>OM<= 4>>G<5=F 74M<M5= 74>>=>< >5 46F>DE><E 

?D464E. �4?D5M45FEO ?>?=>5 <?< G4EF<G=>5 

6>E?D><76545=<5 E>45D6<<>7> =4EF>OM57> 4>>G<5=F4, 

557 ?D5464D<F5?L=>7> G654><?5=<O < ?>?GG5=<O 

D47D5L5=<O >F >><?4=<<-<77>F>6<F5?O.

�F<5F>4 > E>>F65FEF6<< 74?4D=<>4 4?O 65=<>>6 «��$��,» 
FD55>64=<O< &' 27.51.24-020-51036005-2020

7.  ��$��&���/� &����






